Practice
Graphing: Graphs of Data

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review
video again.
#1) Find the coordinates to points A, B, F, D, G, and K:
Point A:
Point B:

Point F;

Point D:

Point G:

Point K:

#2) Find the letter of the point at (3, 2)

#3) Find the letter of the point at (—4, 2)

#4) In the graph, which of the following conditions are true for
point M? N ‘
a) x>0, vy<0 . M
by x>0, y>0
¢) x=0, y=0

d) x<0, y>0
e) x<0, y<0

#5) In the graph, which of the following conditions are true for point N7
ay x>0, y<0
by x>0, v>0
¢) x=0, y=0
d) x<0, y>0
e) x<@, y<0

N



#6) In the graph, which of the following conditions are true for
point P?
a) x>0, vy<0
by x>0, y>0 N
¢y x=0, y=0

S

d) x<0, ¥y>0
e) x<0, y<0 P

#7) In the graph, which of the following conditions are true for point R?
a) x>0, vy<0
b) x>0, y>0
c) x=0, y=0
d) x<0, y>0
e) x<0, y<0

#8) If xy =1, which of the following conditions must also be true? (multiple answers may be correct)
a) x>0, y<0
by x>0, y>0
¢) x=0, y=0
dy x<0, y>0
e} x<0, y<0

#9) If X I, which of the following conditions must also be true? (multiple answers may be correct)
y
a) x>0, y<0
b) x>0, y>0
¢) x=0, y=0
d) x<0, y>0
ey v<@, y<0

#10) If xy=—1, which of the following conditions must also be true? (multiple answers may be

correct)
ay x>0, y<0
by x>0, y>0
¢) v=0, vy=0
d) x<0, y>0
e) x<0, y<0



Answers:

#1)
#2)
#3)
" #4)
#5)
#6)
#7)
#3)

#9)

A:(=2,4) B:(3,4) F:(50)
E
H
b
d
e
a

b and e

b and e

#10) a and d

D:(-2,-3)

G:(-3,-1)

K:(~50)



Solutions:
#1) Find the coordinates (o points A, B, F, DG, and K:
L

& (X 15 on letd
[— 2; (f) ’

(Bﬂ)
($,°)

Poimt A
Point B

Poim F:

Point 1) [-ﬁ 2, 2_?,)
(“"??('" I)

(“’5/")

Point G

Point K:
#2) Find the letter of the point at (3,2) (E:

G

#3) Find the letter of the point at (-4, 2)

e - , ()'(Co g>o ) T

f14) In the praph, which ol the following conditions are true for A . (x?o £ y:m)
point M? N '

ay x>0, y<0 ™ M

E x>0y ()-l ¢

PSR e X oxt

dy v <), >0 p

ey x<l, yal

° R
(xeo oy °
(%30, o)

g~

#5) In the araph, which of the following conditions wre e for point N?
ay x>0 p<l
by vl yod)
o) X 0, p=0

Thxoys0]

e) v<l, ye0



#6) In the geaph, which of the loflowing conditions wre true for

point P?
ay x>0, p<0
by x>8, y>0
¢y x=4, y=1
d) y<0, y20

it S

L'c) x<{, p<t

SRR

#7) In the py. 1]}_',1,_35.1{!(,!1 ol the following conditions are wrae for poind R? 4~

Iﬂ) X »U r<b
b} x>
¢y w=l, oy
d) v <0, 10
¢) v<lh ¢}

0, ;*\U

48) 1t xp =1, which of the following conditions must also be true? (multiple answers may be correct)

g) x>0, p<il)

JERETER

v <0

}"‘E) v<h, v<i )
I
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#9) 1 - =
.v

a) v>0. r<
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1. which of the following conditions must also be true? (multiple answers may be correct)
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H10) If xy = -1, which of the following, vun(iitimm must also be true? (multiple answers may be

correct) .

[a) \>O ES
b) \»U‘ ye
) x=0, ys0

[d) \(0 ;HU

i T

g) v<0, ¥y<0
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